*Final models used

*Lost to follow-up

stset period2 if final2!=5, failure(lost2==1) scale(1)

stcox  age_bi EPTS i.CD400b pregn2 bplus2 i.prov2 i.part if final2!=5, vce(jackknife, cluster(designacao))
stcox  sex2 EPTS age_bi pregn2 bplus2 i.CD400b if final2!=5, vce(jackknife, cluster(designacao))
stcox  widowed EPTS age_bi pregn2 i.CD400b if final2!=5, vce(jackknife, cluster(designacao))
stcox  stage4 EPTS pregn2 i.HF i.bplus2b i.CD400b age_bi if final2!=5, vce(jackknife, cluster(designacao))
stcox  i.CD4_6 EPTS pregn2 bplus2 i.ARTREG i.prov2 i.HF i.part size2 if final2!=5, vce(jackknife, cluster(designacao))
stcox  pregn2 EPTS age_bi sex i.CD400b i.HF i.part if final2!=5, vce(jackknife, cluster(designacao))
stcox  bplus2 EPTS pregn2 i.CD400b i.prov2 i.HF i.part size2 if final2!=5, vce(jackknife, cluster(designacao))
stcox  TB EPTS age_bi i.CD400b pregn2 i.ARTREG3 if final2!=5, vce(jackknife, cluster(designacao))
stcox  i.ARTREG2 EPTS age_bi i.CD400b pregn2 TB i.HF size2 if final2!=5, vce(jackknife, cluster(designacao))
stcox  nogaac EPTS age_bi i.CD400b pregn2 i.prov2 i.part if final2!=5, vce(jackknife, cluster(designacao))
stcox  nogaac EPTS age_bi i.CD400b pregn2 i.prov2 i.part if final2!=5 & period>182.5, vce(jackknife, cluster(designacao))
stcox  i.HF EPTS i.CD400b pregn2 TB i.prov2 i.part size2 if final2!=5, vce(jackknife, cluster(designacao))
stcox  size2 EPTS age_bi i.CD400b  i.prov2 i.part i.HF if final2!=5, vce(jackknife, cluster(designacao))

*deceased

stset period2 if final2!=5, failure(deceased==1) scale(1)

stcox i.age4 sex2 i.WHOstage i.CD4_3 TB  i.ARTREG i.prov4 HF2 part2 NOMCH EPTS if final2!=5, vce(jackknife, cluster(designacao))
stcox i.age4 sex2 i.WHOstageb i.CD4_3b  pregn3 i.ARTREG i.prov4 HF2 EPTS if final2!=5, vce(jackknife, cluster(designacao))
stcox child sex2 i.WHOstageb i.CD4_3b  pregn3 i.ARTREG i.prov4 i.HF3 EPTS if final2!=5, vce(jackknife, cluster(designacao))
stcox  sex2 EPTS i.NOBP if final2!=5, vce(jackknife, cluster(designacao))
stcox  sex2 EPTS i.NOMCH if final2!=5, vce(jackknife, cluster(designacao))
stcox  sex2 i.age4b i.WHOstageb i.CD4_3b pregn3 i.prov4 EPTS if final2!=5, vce(jackknife, cluster(designacao))
stcox  i.marital3 EPTS i.age4b sex2 pregn3 TBb i.ARTREG HF2 if final2!=5, vce(jackknife, cluster(designacao))
stcox  i.marital3 EPTS i.age4b sex2 pregn3 TBb i.ARTREG HF2 i.WHOstageb i.CD4_3b if final2!=5, vce(jackknife, cluster(designacao))
stcox  i.WHOstage EPTS i.age4b sex2 i.marital3b i.CD4_3b pregn3 i.ARTREG i.prov4 HF2 i.NOBP if final2!=5, vce(jackknife, cluster(designacao))
stcox  i.CD4_3 EPTS i.age4b sex2 pregn3 i.ARTREG part2 HF2 i.NOBP i.NOMCH if final2!=5, vce(jackknife, cluster(designacao))
stcox  pregn3 EPTS i.age4b sex2 i.marital3b i.WHOstageb i.ARTREG i.prov4 HF2 if final2!=5, vce(jackknife, cluster(designacao))

stcox  pregn3 EPTS i.age4b sex2 i.marital3b i.WHOstageb i.ARTREG i.prov4 HF2 TBb i.CD4_3b if final2!=5, vce(jackknife, cluster(designacao))
stcox  bplus3 if final2!=5, vce(jackknife, cluster(designacao))
stcox  bplus3 i.age4b sex2 i.marital3b i.WHOstageb pregn3  i.ARTREG i.prov4 HF2 i.NOBP EPTS if final2!=5, vce(jackknife, cluster(designacao))
stcox  TB   sex2 i.WHOstageb i.CD4_3b pregn3  i.ARTREG HF2 i.NOMCH EPTS if final2!=5, vce(jackknife, cluster(designacao))
stcox  i.ARTREG i.age4b sex2 i.WHOstageb pregn3 TBb i.prov4 HF2 i.NOBP i.NOMCH EPTS if final2!=5, vce(jackknife, cluster(designacao))
stcox  i.ARTREG i.CD4_3b i.age4b sex2 i.WHOstageb pregn3 TBb i.prov4 HF2 i.NOBP EPTS i.marital3b if final2!=5, vce(jackknife, cluster(designacao))
stcox  i.prov4 i.CD4_3b i.age4b sex2 i.WHOstageb pregn3 i.ARTREG TBb i.prov4 HF2 i.NOMCH EPTS i.marital3b if final2!=5, vce(jackknife, cluster(designacao))
stcox  HF2  i.CD4_3b i.age4b i.WHOstageb i.prov4 i.marital3b EPTS if final2!=5, vce(jackknife, cluster(designacao))
stcox  part2 i.CD4_3b i.ARTREG TBb  i.NOMCH EPTS i.marital3b if final2!=5, vce(jackknife, cluster(designacao))
stcox  NOBP sex2 i.WHOstageb pregn3 TBb  i.prov4 HF2 EPTS  if final2!=5, vce(jackknife, cluster(designacao))
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